CATHOLIC DIOCESE OF KAKAMEGA EVALUATION TEST

CHEMISTRY PAPER 3

MARKING SCHEME
1.
a)

CT = Complete table ….1mk

Table to be filled completely

If at time 0min a student records temperature as 0 or any reading is more than 40 penalize half mark.

D.P = decimal point ……. ½mk

All values to be recorded as whole numbers OR with a decimal as 0 or 0.5 only if any other figure is used award 0mk for d.p

Accuracy.Consider reading at time 0min if  +/- 2oC of school value award ½mk, if beyond award 0mk

Trend 1 mk

For time t= 0to 1½  values to be constant. 
½ mk

For time t = 2 ½ to 6 
½mk

Values to be rise and be higher than those of t = 0 to t = 1 ½ .the last values to drop 
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b) Graph

      SHAPE 

      Labeled axes …. ½mk


Axes to be labeled with quantities 

     Scale ………….½mk


Plot to cover ¾ of the given grid.

     Plots …………..1mk

      To be plotted accurately, 10-12 (1mk), 9plots (½ mk)

     Plots for t =0 to 1 ½ to be joined by straight line …. ½mk. Draw line for drop and extrapolate ½mk

           ii)
½ mk for using graph ( must show dotted line on graph or blocked liner)




½ mk for correct answer




If not shown in graphs penalize fully.



iii)
MC(T

                                    M ≡ 50 x 1.0g/cm3 = 50g( ½  mk



= 50 x 4.2 x higher of ans b(ii) //  50 x 4.2 x(t( 1mk

                                    = ans ( ½  mk




Penalize ½ mk for omitting units or wrong units in final answer




Accept J or kJ units



iv)
Value obtain in b(iii) ( 1mk   Ans  ( 1mk





320

Procedure II



Table 2
CT – 1mk

Decimal – 1mk

Accuracy – 1mk
Principle of averaging – 1mk
Final answer – 1mk




a ii)
I : ans a(i)  x 0.25 (½ mk      = ans (½ mk  




       1000




  iii)     Moles ratio between H2SO4 and NaOH = 1 : 2// (½ mk




Moles of H2SO4 in 25cm3 = ½ x ans a(ii)  








= ans (½ mk



iv)
 ans a(iii) x 250 ( ½ mk   = ans    (½ mk





25


d)
Moles of procedure I b(iv)  + procedure II a(iv) (½ mk  =  Ans (½ mk


e)
Ans part (d)  x 1000 ( 1mk  =  Ans (1mk





50

2. 
3. 
	Observation 
	Inference 

	(a) Yellow flame      1mk
	Na+  present   1mk

	(b) Whit ppt. forms ½mk  soluble in excess ½mk  
	Zn2+  ,  Al3+ ,  Pb2+   present   
   3-    1mk,   2-       ½ mk     ≤ 1 -  0mk

	(c) Whit ppt. ½mk  soluble in excess ½mk 
	 Zn2+  present

	(d) White ppt  1mk 
	SO42-, CO32- , SO32-, CI-    present

4- 1mk, 2-3  ½mk    ≤ 1 -  0mk

	(e) white ppt  ½mk insoluble in the acid ½mk  
	SO42-   1mk


	Observation 
	Inference 

	(a) (i) Burns with sooty yellow flame 
	unsaturated organic compound   //



       C   =   C                   C     C        

present

	(ii) pH = 4 - 6 
	Weakly acidic    ( ½mk)


	(b) Bubbles evolved // Effervescence 
	  –COOH present   ( ½mk)

	(c) purple KMnO4decolourized 
	 R - OH     ½ mk



       C   =   C                   C     C        ½ mk
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